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MASTER OF COMMERCE (M.com) 

Term-End Examination 

Lc) 
	 December, 2017 

MCO-001 : ORGANISATION THEORY AND 
BEHAVIOUR 

Time : 3 hours 	 Maximum Marks : 100 
(VVeightage : 70%) 

Note : (i) Answer any five questions. 
(ii) All questions carry equal marks. 

1. Do you think that rapid changes in economic 
environment have created impact on modern 
organisation ? Discuss these changes, and explain 
the salient features of modern organisations. 10+10 

2. What are the goals of organisational behaviour ? 
As a manager of an organisation, prepare 
measures which will assist an individual to grow 
continuously in your organisation. 	 6+14 

3. Critically examine Mcclelland theory of 
motivation. As a managers of an organisation, 
how can you motivate your employees applying 
this theory. 	 16+4 

Explain the factors which influence the 
group formation. 	 10+10 
Describe various types of formal and 
informal groups. 
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5. Examine different sources of resistance to change. 
How can you overcome these resistance to 
change ? 	 10+10 

6. Explain various levels of conflict in organisational 14+6 
life. How do these levels influence the 
organisational efficiency ? Discuss with examples. 

7. As a manager of an organisation, you are 20 
planning to re-design the Jobs in your 
organisation. Explain various techniques of job 
re-design which you will adopt for the purpose. 

8. Write short notes on any two of the following : 
(a) Steps in organisation process 	 10+10 
(b) Theory of Attribution 
(c) Measurement of job satisfaction 
(d) Team Development 
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